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Nineteenth International Mathematics Contest(Taiwan)
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1. B~ 2~ A=A T AR —ZEFRI TR - BEEZZ 0T 20 {E » NEEZAY 3
&) 36 {iE » HNLLFH/D 14 | - A EEftEH-2E {i&l - (A)87 (B)88 (C)89 (D)90

<fiei>

fEase LT HE

[ |x3-36=[ [4+20-14

[1x2=42

[ =21

FH=21+20=41 > N=21x3-36=27

$t 414214+27=89 » #E C o

2. IEZATHE 14419424429+ 464 YT » A/ VD E—EEE - [FEIEZEE 370 » SR
D EIMESEF? (A)49 (B)59 (©)44 (D)55

<f#HT>

(64-14)+5+1=11

(14+64)x11+2=429

429-370=59 > 3 B

3. /NBHAH—EIEEEERER 356 B » FHMER 2 0 8 356 F/EC T 653 - 45N T 9 &R
FAEE] - RS (E RS R o (A)31(B)33 (C)35 (D)37

<>

(653-356)+9=33
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4. SEATWUEIPHIEAGRI T ~ £~ N~ THE=AE - HAR
AR GHEAE 36 ‘T A7 K TSP HEE 2/ A
47? (A)54 (B)63 (C)72 (D)81
<fitff>
F+ 7+ + T =(F+7)x2=36x2=72
HEC o
A B E

5. As shown in the figure, a square (IF/5/2) BEFG and a rectangle (77
/) GFHC are place on one side of a square ABCD with the area([Hf&) G
100 cm?. Find the perimeter (&) of rectangle GFHC. (A)16 (B)18
(C)20 (D)24 o—

<figetfr>

ABXBC=100 » AB=BC=10

BC=BG+GC » BG=GF
" EH GFHC 98 E=(GF+GC)x2=(BG+GC)x2=10x2=20 » 3 C -

6. HlEE i T et ivREsE BT ATHE RV ARLIRE R (A5 BF 45 53
(B)5 5 50 43 (C)5 % 30 43 (D)5 % 48 43

<fifr>

60x==48

COIEHERFRE Ry SHF 48 43 > ED o

7. There are 100 parallel small squares. It is known that the first number 1s 2, the second number
is 3, and the sum of the numbers of every three consecutive (3#4&) small squares is 10, then
the number of the 100" small squareis . (A)2 (B)3 (C)4 (D)5

<fietr>

10-2-3=5

PR 23523523~ ...

100+3=33...... 1

%5 100 {E/NITASHVE 2 2 BEA -

8. PHEI{F T 512 5 JuAl 10 JTHYRERS » Hrp 10 JTAYBERSLE 5 i 2 1 & - A Emi—
AE AT RE R L 2 BV EE? (A)155 7T (B)225 7T (C)248 JT (D)250 7T

<S>

155+(5+10)=10....5(F &)

225+(5+10)=15....0(F &)

248+(5+10)=16....8(F &)

250+(5+10)=16....10(&FH)

Do
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1. When a two-digit number is divided (#Z[%) by 3, the remainder (8% is 2, when divided by
5, the remainder is 1, then the maximum two-digit number is

<fi#ffr>

W3 68 292,5,8, 11,......
5k B 11,6, 11,.......

[3, 5]=15

11, 26, 41, 56, 71,86, 101> £ A #=86

2. NEHIEBATREE M EHEE 15T B8 SEEM XA 195 0 firdk
HEIRT o

<t

195+15=13

13+3=4....1

13+4=17(t)

<5sfi>
= EEEE=15x3=45 > {5 4 &
195+45=4.....15

4x4+1=17(*)

3. EFEC Ix1442x13+3x12+.... ... +14x1= °

<fh>
1x14+2x1343x12+4X%114+5%x10+6X9+7x8+8xT+9x6+10x5+11x4+12x3+13x2+14x1
=2X(T+13+18+22+25+27+28+28+27+25+22+18+13+7)
=4x(7+13+18+224+25+27+28)=4x140=560

4. —REMA—EE > BREHALER - BRPERE 20 BI40Z 30 K - ATHE 31 54

17 15 K > s R g KA RINEE T 1 JAAIZ K o (EEEIEF—KIZ
HYEL[E] &)
<fi>

FREEEE R a > FHEF 1 RKIZ b —FIIRIVE RS ¢
ax30+c=bx20x30

ax15+c=bx31x15

15a=135b

a=9b » FERFA AL 1 BHAIZ 9 K

W4 H23
5. A< o< WERE ARWmEE_ -

<>
]

i % 29 i — 2, E/\ /\\ b = N ﬁ%‘
<o <T TR CES TS 8~23 2 fE » HiE 6 HIRZEL

[J=6x2=12 = [1=6x3=18

122 183

'_:_&— - Eﬁ:2&3(3ﬁ’5%)
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International Mathematics Contest (Taiwan) — &E(5 F4k)



6. —(EIEEEE T ENBII R 2x2x2xpxq (p, ¢ BEE) > EN 3 BEFERENATEHRE

ZA > AEEEIE RS -
<fEAiT>
& pxq=15

8x15=120 » 120=1x120=2x60=3x40=4x30=5x24=6x20=8x15=10x12
1+2+34+4+5+6+8+10+12+15+20+24+30+40+60+120=360=120x3
It B 2A%=120
<53fife>
IREAI=(1+2+4+8) (1+p)(1+q)=3x2x2x2XpXq
15(1+p)(1+q)=3x2x2x2xpxq
5(1+p)(1+9)=2x2x2xpxq=Pp=5
5(1+5)(1+q)=2x2x2x5%q
6(1+q)=8xqg=>g=3
C2x2x2x5%3=120

7. Three squares are arranged as shown in the figure, the area of square ABCD is

40 cm?, the area of square DHIJ is 10 cm?, AE passes through point / and . L _J

EF passes through point J. The area of square AEFG is cm?. G 1D
<fEAT>
HE > DL AT BBIETE T ALK - JD :AD =10:40=1:4 » TFJ77% ALKJ ETTE G
F510+1x(142)*=90F 5 /457

AP =1+4=5 » AAHD HIFTREROR (142)25=1.85 » (SEIAMJE » 4] ’ ’
AE =4x1.8=72 ¢
AT ALKJ B 5T AEFG IR B (142)7.0=5:4 « TE 7 AEFG TiREHEHIE S By 00+5x4T72 T F /A
éj\ o
F
K: """"" |
| E 1
i C AN 1 D
2 G
Lo A

8. /NIHEEEHREA I K 121 N B/ - (/NBHEER T REbIEER RS 2 /N
P81 o8 o NBHEEHYT-5% 8 Bh 21 47 30 MORHsAETR - /REEEAEREURTTH 363 N H
HURHE > NIHE ST SRRV Z] i g7

<>

363+121=3 » 180:[ |=120:60

120x[_|=180x60

[ =90 #b » 8 B¥ 21 43 30 #0+3 HE-90 Fh=11 HEF 20 47
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1. WiE > —ERFEEA 20 EfEF o RIESS 7 R4E5E 1~20
OFAI—(EFE T 240K - &BMIRE TRl 2408
OF A —(EFE T R&REK - &BNRE Tl A EEK
OFEFI—EFETEHEK > K\ FE T R40EK
CAIH =B E T 100 B > K 4 5RFa A %5841 5k?
<figffr>
EREEE 4 SRR T
BEg |l 1|23 |4|51|6 99 | 100
BRE | 40 | B | &k | 4L | H | %k &k | 4L

3 {E—{EEE > 100+-3=33.....1
41 Ek=33+1=34 ¥4

2. ZANET—(ErUfrE

FHER:
L
PE:
TER:
JRER:

LRSS TR A (R A B A M T -
A (VUi 80 °

<fAT>

A+B+C+D=9 ~ 18 ~ 27 ~ 36

A+C=B+D—>A+B+C+D=2x(A+C) ) {H# > A+B+C+D=18 ~ 36
WS (EEAIRI 2D F 18D PNESE

R By 9% 11x11=1089

1089 HYHEL 1 ~3~9 -

TEERCE 9 HUREEL

TEEECE 11 HUREE
B (EBE B E 17 4
CiE(EBUE T

TiE(EBA 9 R

JEEVUAi7 #=1089
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